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QUESTION 1

Scenario: 

CGE needs to define its management process for desktop image releases. Some groups need a process 

for version control that includes thorough testing prior to production. Why does using Machine Creation Services
facilitate image management? 

A. It reduces image deployment time. 

B. It reduces the storage requirement for images. 

C. It allows for testing updates prior to updating the production machine catalog. 

D. It allows for testing updates prior to updating the production Delivery Group. 

Correct Answer: D 

 

QUESTION 2

Why is deploying two NetScaler appliances - one in the primary and one in the secondary datacenter, configured with
failover sites within the NetScaler Gateway the best design solution? 

A. It allows end users to connect to their primary datacenter through a secure, reliable, and cost-effective solution. 

B. It provides redundancy, while optimizing external WAN traffic. 

C. It segments the Gateway and load-balancing features of the NetScaler appliances. 

D. It allows for the expected expansion of remote access usage and provides SSL VPN functionality for future needs. 

Correct Answer: C 

 

QUESTION 3

Scenario: CGE decided to virtualize its infrastructure workloads and provide a virtual solution to all end users. The
infrastructure workloads include Delivery Controllers, StoreFront servers, License Servers, and Microsoft SQL Servers
for databases. Why is creating a resource pool comprising a maximum of 16 XenServer hosts, using a shared virtual
disk storage repository to provide XenMotion and high availability capabilities, and replicating meta information to a
failover site the best design solution? 

A. It addresses all customer requirements by ensuring appropriate design of resource pools, high availability for critical
workloads, and a new storage solution for disaster recovery purposes. In addition, it accounts for Server OS and
Desktop OS machine characteristics. 

B. It ensures simple setup with redundancy and meets the requirement of separating the OS types. 

C. It bases resource pools on roles, and facilitates the movement of workloads from one resource pool to another in the
event of maintenance or disaster recovery. 

1Y0-401 Practice Test | 1Y0-401 Study Guide | 1Y0-401 Exam Questions                                2 / 3

https://www.passapply.com/1y0-401.html
https://www.passapply.com/1y0-401.html
https://www.passapply.com/1y0-401.html


https://www.passapply.com/1y0-401.html
2024 Latest passapply 1Y0-401 PDF and VCE dumps Download

D. It ensures the separation of infrastructure and virtual desktop workloads and optimizes performance and high
availability. 

Correct Answer: A 

 

QUESTION 4

What are the benefits of using Streamed VHD? 

A. It retains the single image management function while allowing users to install applications 

B. It provides a high level of security while allowing user customization 

C. It has a low storage performance requirement and high user density 

D. It delivers low-cost and high application compatibility 

Correct Answer: B 

 

QUESTION 5

Scenario: The company is designing a cost-efficient environment for the call center workers. The IT department is
replacing the existing thin clients with newer models. 

What are the benefits of using Hosted VDI by using cloned VM templates? 

A. Highest user density and lowest cost 

B. Highest level of user personalization 

C. Lowest storage performance requirement and highest user density 

D. Rapid provisioning 

Correct Answer: D 
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